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it i are 02 (3t) vl & fore Aaferfaa a4,
faramr #ifare :

ot foamera ®, avft o 9 3fa: @ @ell (3SR
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1. T # out H 2w den ®= @ wwd (O
??
(a) 123
b 111
(© 95
@ 63

2. froem # sEl 6 st den fhedt &
Tt  ?
(a) 111
(b) 123
() 125
(d) 135

3. IR A R 3 F H qEuE JYE ¥, A
TEFHIRES Shaam (A7) : 7.

(a) Y AR F TR &
(b) A% T B

(© BA%F W R

@ w e 7 R
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% aifts % AW 4 B | e dREd &
HTfOres 1 HH 918 2

(a) 64

(b) 36

() 82

d 4

6 WAl 3R 4 it § @, w wEed
5 saferal =t Wl S STear ® | 98 fhe weR
q fen 1w @ aifs FnAEn o TRf
$ wdl R 7 '

(a) 209 |

(b) 210

() 246

d 242

[(2x - 3y)% (2x + 3pA? & fowam & o A
T R ?

(a) 4

() 5

() 8

@ 16

(1 +ax)® % fem 4, wee €7 v % 1, 12x
3R 64x> ¥ | n e womt 2 2
(@ 6

® 9

(¢ 10
@ 12



Consider the following for the next 02 (two)|4.
items that follow :

In a school, all the students play at least one of
three indoor games — chess, carrom and table
tennis. 60 play chess, 50 play table tennis, 48 play
carrom, 12 play chess and carrom, 15 play carrom

and table tennis, 20 play table tennis and chess.

. 5.
1. What can be the minimum number of students

in the school ?

(a) 123
(b) 111
(© 95
9 o
2. What can be the maximum number of
students in the school ? 6.
Q} 111 |
(b) 128
() 125
d) 135

3. IfAisan identity matrix of order 3, then its 7
inverse (A™})

(a) is equal to null matrix
9} is equal to A
(¢) isequalto 3A

(d) does not exist
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A is a square matrix of order 3 such that its
determinant is 4. What is the determinant of
its transpose ?

(a) 64
(b) 36
(c) 32
d) 4

S

From 6 programmers and 4 typists, an office
wants to recruit 5 people. What is the number
of ways this can be done so as to recruit at
least one typist ?

(@) 209 4
b) 210
" 246
@ 242

What is the number of terms in the expansion
of [(2x — 3y)® (2x + 3y)%2 ?

(a) 4
@" 5
) 8

d 16

In the expansion of (1 + ax)®, the first three
terms are respectively 1, 12x and 64x%. What
isn equal to ?

@ 6 _.) n(’-.

") 9

© 10 /M _

d 12
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10.
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q&a 1, 5 3R 25 9 92 (FUPE w9 ¥ B
AEYIH TET) B hd &

(a) Fa91TH APH
(b) TH ¥ fis v wifid g § APs &

(c) mftfirg @@ & APs &

@ gitfia s d GPs &

et AP (p + F 3 (p— g Wal 1 BTt
e ?

(a) @2pEEH
b (2qd ]G F
© pPIRFTAF

(d) q&‘ﬁ%?_ﬁ%-

A A B o> 1% @ ot g R, A

faffm i d sRawa@t 2 2

(a) det(—A)=detA

(b) det(~A)=(-1)"detA

() det(-A)=-detA

(d) det(—A)=ndetA

25 cosec” x + 36 sec? x W YA HH FT

L &

a) 1
(b)) 11
(¢ 120

d 121

_(4_

ST TR AT 02 (7}) A & forg R @
farame &iforo :

12,

13.

14.

15.

D)

(b)

wA e A 3R B, (3 x 3) wEE ¥ wwl
det A=43NdetB=3 2 |

det (2AB) formess susR 2 2
(a) 96
(b) 72
(c) 48
d 36

det (3AB™!) formes s 2 2
B) 12
(b) 18
(c) '36
(d 48

s s AT 02 (7)) W & fore Rl
faam #iforo : :

T uily wen W owR & w3 e
+2i .
z=———Tgl
1-1-1)

7 %1 W97 97 & 2

(a)
by 2
e 1

1
(d) E
2 1 Y& HIvliH 41 § 2
(a 0

A

(c)

A s

(d)




The numbers 1, 5 and 25 can be three terms
(not necessarily consecutive) of

(a) onlyone AP
(b)

(c)

>

more than one but finite numbers of APs
infinite number of APs
finite number of GPs

The sum of (p + q)th and (p — q)th terms of an

ki AP is equal to
@ @2p)® term
) (29" term
(g)  Twice the p® term
(d) Twice the g™ term
i 10. If A is a square matrix of order n > 1, then
which one of the following is correct ?
W, @ det-M=detA Q];:N e
(b) det(-A)=(-=1)"detA -
(c)r det(-A)=—detA
(d det(-A)=ndetA E
11. What is the least value of
25 cosec” x + 36 sec” x ?
(@) ~ 1
b 11
(© 120
@ 121
EDF-S-DGV (5-

Consider the following for the next 02 (two)
items :
Let A and B be (3 x 3) matrices with det A = 4

and det B = 3. P o
12. Whatis det (2AB) equal to?
a) 96
® 72 5 bt =4
o 48 .
(d 36 7 <Lb 2
| o lldd 2
13. Whatis det(3AB™") equal to? )
(a) 12 2 EU’ - o
(b) 18 10K (f
(0 36 t ,/(L/-K""—'
@ 48 e

Consider the following for the next 02 (two)
items : ; ;
1+2i

A complex number is givenbyz= ————— .
? i
14. What is the modulus of z ?
=% B
(a) 4 : ®
/
® 2 i
ok
1
d =
@ 2
15. What is the principal argument of z? :
@0
T
(b) Z _,',-
i B
(c) E
d =
D)




16.

17.

18.

19.
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1:
B0 L

7 Tt 5% + px + q = 0% oA tan 19° 3K
tan 26° &, ?hﬁtr%ﬁaaﬁﬁiquaaaé’t
22
(a)
(b)
) -
(d)

21.

I

q-p
P—q
P+q

1
1
2

p+q=3

n 93 ael s AP fed W@ w1 dmed

nn+ 1D, FITNAMIEHRTE ?

(a) 6

b)) 8

(¢ 12
d 20

(1+tanatan6)2+(tana—tanﬁ)2—

' seczaseczﬁ
foras wU=T ® 2

(a)
(b)
(0
(d)

N = o

‘ﬂﬁp=msec8—eot6 3R q =(cosec 0 + cot 8)“1 :
2, @ Frefafaa & @ SRw o wdt R 2
(@) pg=1

() p=q

(¢ p+q-=1

d p+q=0

afe uw Y ABC % ®I0T 1:2: 3% IguE &
&, o g yed foha argama | € 2

(@) 1:2:3

®) 3:2:1

(c)

R

12
: V2
(6-D)

f=fafias st w fomm Hifsw ;-

1. T @ fmer gl Side wid |,
xcos0+ysin0=p 8 WRF (P
¥ @R M dw #H deEn

|otcos® + Bsin B + p| 2

2. fag (o, B) A Y@ —+——1tma°f%mz

mﬁm aa + bp —ab % |
_a2+b2

IR HE # F PR T N 2
(2) a9 1
(b) Had 2
(© 13K 23Ht

@ I, TIA2

w.@xhy%az‘»ﬁqai%ﬁmaﬁmw
T g9 @iE TR | 98 S, W@ x+y=a W
Pt e iR ?

(a) 'xz+y2—ax—ay+a2-—'-t_l
®) =x*+y’-ax-ay=0
(c) x2+y2+ax+af=0

(d) xz+y2+ax+ay—2a2=0




mﬂm’.""ﬂ‘ sen i —————

16. If the roots of the equation x” + px + q=0are|21. Consider the following statements :

o s ich
tan 19° and tan 26°, then which one of the L For an equation of a line,

following is correct ? .
@ 1 pAP? = - P X cos 6 + y sin 6 = p, in normal form, the
A e o Ee D

s &5 4w YS= i " length of the perpendicular from the
(b) p-q=1 pr =)
() p+q=2 iy point (o, B) to the line is
(d p+q=3 s P |occos @ + Bsin® +p]|. -

2. The length of the perpendicular from

17. What is the fourth term of an AP of n terms ! *
the point (o, B) to the line —~+%=1 is

i ?
:vl)losessumlgn(n-l_-l). S”n,l__{n fics : -
a .5
bp — ab
2 &1 s s sty ;B \
b 8 A e Y
a‘“+b — |
(c) 12 . ; 51' - g ) .r.ll'
(d 20 5 JD :
e d’__?rl 2 =) v?, Lf Which of the above statements is/are correct ?
18. Whatis - ») Ty T T,, 3 %,
2
(1+tanatanﬁ)+(tana-—tanﬁ) (a) 1only
sec” o sec? B '
equal to? (b) 2only
fa) 0
() 1 (¢) Both1and?2
() v 2
d 4 (d) Neither 1 nor 2

19. If p =cosec 6 —cot 8 and q = (cosec 6 + cot 9)_1,
then which one of the following is correct ?

(a) pg=1" 1 22. A circle 15 drawn on the chord of a circle 1
(b)) p=q X -i-y2 a’ as diameter. The chord lies on the
(0 p+q-=1 line x + y = a. What is the equation ofthe_
@ p+q=0 circle ?
. ; o (a) %2 y2 -
20. If the angles of a triangle ABC are in the ratio 8) X4y -ax-ay+a =0
1:2: 3, then the corresponding sides are in 5 .
- the ratio Fb) X +y2-ax—ay=0_ﬁ
{9) 1:%:3 -
v 2 3
b 3:2:1 : i () x +y2+ax+ay—0
(¢ 1:43:2 =y x2+y2+ax+ay-—2a2=0
@ 1:43:42
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23. & ?ﬂdiﬂ g fordt ﬁﬁ £ i ﬂl’iﬁ &1 | 27. ﬂﬁmsy+u=1,y=x+5ﬁt5y+bx=3

Aree IR 3 3R I8 SO R gt E, @ b 1 A M E ?
(a) Y & 6 T=E B (@ 1
b & g A T H ® 3
(¢) s & T () 6
@ s s sy e f T $ G
et :

98, IG TS Y@ 1 GO TR S = x [ &9
24, T 2x° - 35> —6=0 frefia =t ® Yy _

2 it (3, 2) ¥ B TERA R 2
(a) Thdd
(@) x-y=5
(b) TH REAE
(b) =5
() W ddgE | W
@ U AfRuEad : L SRl
@ x-y=1

25. a‘l'{a'ﬂ'ﬂy2=4ax3ﬂ'( x2=4ay3[ﬁi%ﬁ'g

(@ Yay=x W o & fRgall ® 29, W XN x+y-4=0,3x+y-4=03W

x+3y—4=0@ﬁgqﬂ?ﬂg;ﬂ3ﬁﬁq

(b) e qE-feg W
© dAfgii R AFd A H y+x=0W| (a) wWigETE R
il (b) |WHMIE B
@ %ad (4a, 48) W o R
@ forwrarg ®

26. fg (1, 3) 3K (5, 1), T I F Q wgw

flomd M@ y=2x+cRRBE@E | cH -
30, FAxZ+y +4x— Ty +12=0 G y-318 W

A RE? Rl
T U 3i: Ee R SR R ?
(a) 2
() 1
b) -2 .
% ® 3
() 4 | Gie 4
@ - -4 71 A a
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-The sum of the focal distances of a point on an | 27.

ellipse is constant and equal to the
(a)
(3)/ length of major axis

length of minor axis g\t'
(¢) length of latus rectum

(d) sum of the lengths of semi-major and

semi-minor axes

The equation 2x% 3y~ — 6 = 0 represents
(a)
(b)
(e)

(@ ahyperbola

a circle 9’,33 5

. a parabola

an ellipse

25. The two parabolas y2 = 4ax and x° = day
=+ intersect E
}) at two points on the line y = x -
(b)  only at the origin
(c) at three points one of which lies on
y+x=0 1=
(d) only at (4a, 4a)

26. The points (1, 3) and (5, 1) are two opposite
vertices of a rectangle. The other two vertices 30.
lie on the line y = 2x + ¢. What is the value of|
c? '

(b) -2
() 4 } '?
@ -4 /11 :
Lor= )
3 y | A
EDF-S-DGV )‘j %> (9-D)
g, U

(a)

If the lines 3y + 4x = 1, y = x + 5 and
5y + bx = 3 are concurrent, then what is the
value of b ?

(@ 1

®d 3

() 6
1

(d)

What is the equation of the straight line which
is perpendicular to y = x and passes through
3,2)? '

x-—hy=5 ﬂﬂ,f"'
Sia
@/34‘?:5 /q,u\'rlf
€0 x+y=1 Ljr 4
d =x-y=1 -

The straight linesx +y-4=0,3x+y-4=0
and x + 3y —4 =0 form a triangle, which is_

(a) isosceles

() right-angled
o o]
(d) scalene

The circle x° + y2 + 4x — Ty + 12 = 0, cuts an

intercept on y-axis equal to
cEAPINE )

l@/l
® 3 > 2 P-’Q
(c) 4

g %
@ 7



31.

32.
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ITHH 25, —125, 625, —3125, ... 1 ndl g T
27

(@) (-5
®) . ™5+
(C) (_' 1)211—1 5n+1

( d) {_Dn—l 5n+1

o e X =(1,2,3, 42 SR XW T
ey g 1 3R R = (1, 1), (2, 2), 3, 3), (1, 2),
2, 1), (2, 3), 8, 2)) &, &t Fefefega § & s
T E R ?

(a) gwga:ﬂh‘mﬁai,%mqﬁ

b) R wf sl dsm 2, R wge @

2 |

(© R g 3N dwmws 2, feeg wnfia
2 _

(@ R @ged ? T & g R, feg
aufia 2

gAYl TRl % §Y=d N W UF §9Y R @

, gR & g & 6 xRy = x2 - 4xy + 3y2=0

;g afeffaadiasRawa@t 2

(@) gwmmmﬁamm

-(b)n Rﬁgﬂaﬂtmt,ﬁﬁmﬁaqﬁ

?
© R W@qed, THibG 3R e B

(d R w@ge 2, fhg o= 7 < wufim & e =
& oW 8

34'

35.

(10-D)

R’k A=kxeZ:x3-1=0 3K
B={er:x2+x+1=0I%,ﬁﬂ?ZHﬁﬂ

Tl 1 g=d ?, 9 A N B fRus s R 2

(a) Teaa ag=g
& {—1+J§i’—1—~/§i}
2 2

. {-1+J§i -1—J§i}

4 g 4

@ {1+J_§i, 1-J§i}
2 2
A aftem gl A 3t B % foe fiafefea
HoEl W fo=m Hifsw -
1. (ANBIJUANB)U(ANB)=AUB

2. (AU(ANB))=AUB

I wYAl § ¥ R Td 22 2
(a) had 1

(b) HaA 2

(© 13 2gHt

@ T|LAE2

HH Y X o aftea e 8 o e Sy

A, B, C 99=1% X % svag= ¥ | Fafafea
oAl W famm Hifse .

1. . AcC=(ANB)c(CNB), _
(AUB)c(CUB)

2. (ANB)c(Cn B @ B wg=ai F forg

=AcC

3. (AUB)c(CUB) &t B wg=ai & fog
=AcC ' ‘

I HoE 0 A FH-ATH E 2
(a) had 132

(b) Haw 2R3

(¢) Hawd13M 3

@ 1,23WR3
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31.

32.

EDF-S-DGV

. A relation R is defined on the set N of natural

What is the n™ term of the sequence
95, —125, 625, —3125, ... ?
(@ 5>

(©) (- 1)211—1 5n+1 .

(d] (_ l)n—l 5n+1

(L -
Suppose X = {1, 2, 3, 4} and R is a relation on
X IfR={(1,1),(2,2),3,3),1,2),21),@e,3),
(3, 2)}, then which one of the following is
correct ?

(a) R is reflexive and symmetric, but not
transitive )

() Ris symmetric and transitive, but not
reflexive

(¢) R is reflexive and transitive, but not
symmetric 4

(d) R is neither reflexive nor transitive, but
sSymmetric

numbersasny:axz—4xy+3y2=0.Then
which one of the following is correct ?

(a) R is reflexive and symmetric, but not
transitive

(b) R is reflexive and transitive, but not
symmetric

(¢) Ris reflexive, symmetric and transitive

(d) R is reflexive, but neither symmetric nor

transitive

34,

35.

(11—D:)‘

IfA={xe Z:x°—1=0}and
B={xeZ:x>+x+ 1 = 0}, where Z is set of
complex numbers, then what is A N B equal

to ?
S
(a) Null set

-1+/3i -1-43i
Cw e

A NG, O T S, T Y
4 2 4

A 2

i {1+J§i’ 1-J§i}

Consider the following statements for the two
non-empty sets A and B :

1. (ANB)U(ANB)U(ANB)=AUB .

2. (AU(ANB))=AUB

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢ Both1land2

(d) Neither 1 nor 2

Let X be a non-efnpty set and let A, B, C
be subsets of X. Consider the following
statements :

1. AcC=(ANB)c(CNB),
(AUB)c(CUB)

2. (ANB)c(CNB)forallsetsB=AcC
3. (AUB)c(CUB)forallsetsB=AcC
Which of the above statements are correct ?
(a) 1and2only

(b) 2and 3 only

(¢) 1and3only

(d 1, 2and3




0 0 -
) |0 0 =1

[0 0 2
(c) 0 0 I
(d) o Afeda 78 2

38. TR0 |x—x—6| =x+2 H A FE ?
@ -214 '
(b) 0,2,4
@@ 01,4
@ -2,24

39. a&mﬁ ;]%,?hama;sﬂ
(a) IFISHAYIE AR
(b) SiAdTHIT AR
_.(c) WW
(d) EH AR
L |
40. 3R |y 1

i|=6+11 B, @ x3MyH

0 2i -i

U HHY: TR ?

(a)
(b)
(c)
(d)

-3,4
3,4

g -4
L3 <4

EDF-S-DGV

41.

42.

(12-D)

TN 2% + 22% + 22+ 1=03M
z2017+22018+1=0 a'?'l:“é‘{a%
(a) -1,

® 1,07

(00 -l o

@ o o’

If¢ C(20, n + 2) = C(20,n — 2) 2, dl n frEs '
TR ?

2

(a)
(b)
(c)
(d)

8

10
12
16

43. TH THae W 10 forg # | 3 fargadt & @ = oft

i fomg o wee Y # 6 § | 3 e e
# Fa gen et @ St 7 fagadt it Siga
TS S Tl § 2

@ 90

(b) 45

() 40

(d 30

amb,mpx2+qx+r=0(ﬁlﬁp,q;r
aft garers ) & P aafes g@ )
Frfofea # & shm ww w2 2

(a)
(b)

(e)

(d

a>0, b>0
a<0, b<0
a>0, b<c0
a<0, b>0

afe A=, 0,8, A AH U6 TgE (VR
) ?

(@ {9, (o}, (), (A, ph

() 19, (A}, (A, uh), LA, Wil

(© {0, (A}, A, uh, (A, O, ph))

@ () O, ph A, A,



3 2 0 41. The common roots of the equations
37. If B=|2 4 0, then what is adjoint of B 22+ 222 +22+1=0and 27 + 228 L 1 - ¢
5 <20 are
equial to ? b @ -0
[0 0 0 (b) 1, (D2
@ [0 o o} © -1,0°
]'0 0 - ;
(b) 0 o= . |42. IfC(20,n + 2) = C(20, n — 2), then what is n
0 0 8 agual to? :
4 (a) 8 | ?"Co
(c) [ T () 12 o
0 0 0 @ 16 7 a1
(.gi/ It does not exist ) =
: 43. There are 10 points in a plane. No three of
88. What are the roots of the equation these points are in a straight line. What is the
lxz—x—b‘] =x+27? - total number of straight lines which can be
(@ -2,1,4 formed by joining the points ?
0,24 (a 90 |
" . \oe,~ 3(yt
) 0,14 45 : _
@ -224 c) 40 >
(d 30

] 0. 1
39. IfA =[ ], then the matrix A is a/an :
10 44. The equation px2 +qx +r =0 (where p, q, 1, all

(a) Singular matrix are positive) has distinct real roots a and b.
\Oy/ Involutory matrix Which one of the following is correct ?
(¢) Nilpotent matrix ' (a) a>0,b>0 b
(d) Idempotent matrix ' . (b) a<0, b<0 _ :
2 (¢) -a>0,b<0
i @ a<0, b>0 -
40. If|ly 1 i [=6+11i, then what are the -

0 2i —-i 45. IfA ={A, (A, )}, then the power set of Ais -
values of x and y respectively ? @ {9, (0}, (A}, (A, u} roE )
=4 of, 0 Lora2il e, @2 T 0, 10

& ' ~ y AL, A, pll, fA(A, wi)
® 3,4 f—u@"ff}f ‘(’”'73’))45
(0 3,-4 {0, (A}, (A, uh, A, (A, w1}
c ,— 5 A
; a9 1 0 = 1 A. L A
EDF-S-DGV - , L(13-D) o A
7 2o 'rl!'—vnt-fg 4 =LY 2 |
. & LR =£

(r0%1) 922 )




sin 34° cos 236° — sin 56° sin 124°
cos 28° cos 88° + cos 178° sin 208°

27?

(a) -2
(b) -1
c) 2
d 1

tan 54° i fha yer Afeaw e s g

(a)

47.

sin 9° + cos 9°
sin 9° — cos 9°
sin 9° — cos 9°
e sin 9° + cos 9°
cos 9° + sin 9°
cos 9° —sin 9°
sin 36°
cos 36°

(c)

(d)

it 3 & 03 (i) vt & forg Referera @
faram #ifare :

ﬂﬁp:XcosB-—YsinB,q=XsinB+Ycosﬂ
3f|'(p2+4pq+q2=AX2+BY2%,ﬂ€T

b1
<6< — |
0 - ?
48. OFT UM TR ?
T
(a) *2-
s
® 2
|
(C) Z
T
d i)
(d) 5
49. AFIUA TR ?
(a) 4
)y 3
© 2
@ 1
EDF-S-DGV

50. B & HHE HT2 ?

(a)
(b)
(c)
(d)

-1
0
1
2

ATt I w02 () wvA & forg Aaferfea @
faam #ifar -

21

51.
(a)
(b)
(c)

(d

(14-D)

Iab—- j=a2 "l-h2 _

'ﬂiﬁm‘m%ﬁﬁms(ﬁ—a):a,cos(ﬁ'—ﬁ):b

cos (a-—B)ﬁFR%SiIIﬁI 27

ab + ,/1—a2 \/1-b2

a‘!l—bz —by1-a?
a,h-b2 +by1-a?

52. sinZ (o~ B) + 2ab cos (o — p) FoFaeh T R ?
(@) a+b?
(b) a’-b?
(c) b —a?
@ -@%+bd
53. ?Iﬁaina+cosa=p%, ?ﬁcosz(2a)ﬁ7¥lai
TR ?
(a) p’
b p°-1
© p2-pd
@ p’+1




. AR ‘&m@@
46. What is the value of g
sin 34° cos 236° — sin 56° sin 124° 9

50. What is the value of B ?
(@ -1

cos 28° cos 88° + cos 178° sin 208° )
o \ (b)
@ -2 Y LYy wehRoslh) e
B =1 D en B Sk - G gl lady 1 (03 18€0E@ tlett)
@ 2 :
@ 1 Cipwyy _ A P2 > (08 2% bogs
) WS (psop 4 4 bs 6o
47. tan 54° can be expressed as Consider the following for the next 02 (two)

sin 9° + cos 9° 45‘_,”},53
sin 9° — cos 9° s

®) sin 9° — cos 9° Bidas 93(?

(a)

sin 9° + cos 9°
© cos 9° + sin 9°
V" e -sn®

sin 36°

cos 36°

(d)

Consider the following for the next 03 (three)

tftems :

Ifp=Xcos0-Ysin6,q=Xsin0+Y cos 0

and p2+4pq+q2=AX2+-BY2, 0<e< %

48. What is the value of 0 ?

P13
(a) E
T
(b) 3
R
(c) -4"
T
(d) 3 _
49. What is the value of A ?
(a) 4
b) 38
e 2
(71 5 TR |
‘EDF-S-DGV

items :

It is given that cos (6 — &) = a, cos (6 — B) = b.

51. What is cos (o. - B) equal to ?

(a) ab+ ,jl—a2 ‘)l—bz
® ab-1-a% J1_b2
© ay1-b2 —b1-a2

(d) a1fl—b2 +by1-2a2

<)

to ?
(a) a%+b?
(b) a2 p?
© b%-a?

@ . -@2+bD)
63. If sin a + cos a = p, then what is cos? (20)
equal to ?
(@ p?
(b) p2 -1
© pA2 ~ )
(d p2 +1

(15-D)

52. What is sin® (& — B) + 2ab cos (. — B) equal




e 6
‘54. Sm]g"'seclz—g'wmw%? 57- qﬁmsA=§%,asm{—A—-)Biﬂ(%)${m
4 2 2
@y = i
- & - 2
: 8
@y = 5
2 .
| ®
(c) =
© %
@@ o .
(d) EE
R (O 11-¢2 -1_2x
55. ' - cos'—_ = tan -
i< sin e Ll 1-x2 |58, tan75°+cot75° 1 W T R 2
2, a1 x Torad suar 2 2 @ 2 |
(b) 4
O A TR : © 23
" 1l+pg
d 443
®» 29
1+pq 59. cos 46° cos 47° cos 48° cos 49° cos 50° ... |
: | | cos 135°
Pq
(0 T HIUH TR ?
(a) -1
@ 21  ® 0
1-pq (el
| d 19 s
: 1 1
56. tan0= — 3Ntanop== 2, @ 6 Eo| _
b e v=3bAesawl,, R sin 20 = cos 30, 9 0 <0 < = }, W sin 0
T R®TE? :
& forss s B 2
@ 0 o | B
. (a)
® = g
6 : ”
@ . Yo=1
T ‘ 4
afp @ Y+l
16
W = JE _
2 @ Y5-1
16

EDF-S-DGV (16-D)




54. What is the value of sin™!

sec
b9
(a) Z
T
(b) )
(© =
55. If sinl 2P _ oo 11-9"
1+p 1+q
then what is x equal to ?
!
@ Pt L) AT —
1+pq

(c)

56. Iftan@ = -2]-’- and tan @ = él—,thénwhatisthe

%Qa 14 ) %fl‘, ¢

value of (6 + @) ?

(a)

(b)
“(e)
(d)

EDF-S-DGV

Pq
1+pq

0

@A

T

4

b
2

> 1t g
‘ I+ PL

5_T4 Igm
4 2

£ .2% 58.
l—xg’
2 fom

If cosA= g-, then what is the value of
sn( 3)sn( 3] ?
2 2
5
(a) E
5
(b) 16
5
(c) ﬁ
v
(d) v
What is the value of tan 75° + cot 75° ?
(a)
w4 W
© 23 '
> D5+
d 443

ol
%t is the value of
~ Yos

46° cos 47° cos 48° cos 49° cos 50° ...
cos 135° ?
(@ =1
W0
e 1
(d) Greater than 1
If sin20=cos30, where 0<0< l;- then

whatis sin® equal to?

) J§4+1
i

J5-1

F(-;(b)g{ G

© J§+1

16

J6 -1

(d) 16




61.

62.

65.

EDF-S-DGV -

()

r>0 % foau, e r & ©F g9 & ofem @
&% H I fir) & | 99 R1) + R2) fFES
TR ?

(a) 1
(b) 2
() 3
d 4

A flx) = 31 R, @ fix) fly) fz) FFed s
27
(a)
(b)
(c)
@

fix+y+2)

fix+y+z+1)
fx+y+z+2)
fix+y+z+3)

THIH 5% + 9)x| + 20 = 0 & fow arafaw
ool hEeng

(a) A

T

© @

@ =

Ife fix) = sin (cos x) B, @ f(x) foFas® s & 2

(a)
(b)
(c)
(d)

S fix) = J2—x) (x—3) F oA &

(a) (0,)
(b) [0, )
() "123]
@ (23

cos (cos x)
sin (— sin x)
(sin x) cos (cos x)

(— sin x) cos (cos x)

66-

67.

el GHIHI0T -g% =cos(y—x)+1 &l & &

(a) e"[sec(y—x)—tan(y—x)]=c
(b)
(c)

(d)

e*[sec (y —x) + tan (y—x)] =¢
e*sec(y—x) tan(y—x)=c

e*=csec(y—-x) tan (y—x)

j |sin x — cos x| dx forass st 2 2
0

@) ©

2(J2 -1)
2 V2
2(vJ2 +1)

68. AR y=acos2x+bsin2x &, A

(18-D)

(d)

(a)
(b)

(C)_ 32——45!:0 )

uig I G & T WG B TH I Ao (3w
T FAREAHR AR IR refgarr R arer)
¥ g ® | AR $a gdim dEwer w =Ean
T WY, @ " S i Fag H enedgmEmn
Rt & =ma ¥ 9 w91 g 2

(a)
() @®+2):=n
© 1:1

@ 3T A & B T

:(m+2)




- 61. Forr > 0, flr) is the ratio of perimeter to area
of a circle of radius r. Then f(1) + f{(2) is equal
to
(a) 1
(b) 2
c) 3
d 4

62. If flx) = 3", then f(x)fly) f{z) is ¢gual to
(a) ﬂx+y+z) AR
% #
(b)) fix+y+z+1)
(¢) fix+y+z+2) 4' >
(d fix+y+z+3)
63. The number of real roots for (\%e equation
X +9|x| +20=0is
(a) Zero Q K .
o \ )
One ? v/
}4{ Two P
Three
64. If f{x)=sin (cos x), then f'(x) is equal to
(a) cos (cos x) '5 CO&CMG’ /gw
(b)  sin (- sin x)
(¢) (sin x) cos (cos x) ¥

\g;if (— sin x) cos (cos x)
65. The domain of the function
fix) = J(Z—x)—(x—-:i) is'
(a)
(b)
(@ I[23]

(0, =)

)

[0, )

¢ @9

EDF-S-DGV

(19-

.ﬂj‘(_r'»&r"e

66. The solution of the differential equation
dy

dx
(a) e*[sec(y—x)—tan(y—x)] =c
\(BY e*lsec(y—x) +tan(y-x)]=c
(c)
(d)

A

\
Al
&

) ;’g ) s

&,\
d o ¥t
A/ -+

=cos(y—x)+1is

e“sec(y—x) tan(y-x) =c¢

e* =csec(y—x) tan(y—x)

dy <]~
P

|sin x — cos x| dx is equal to 0
% 8 A

rﬂ\QU

67.

© S 15 |

(a) 0 J \} !._
@/ 2(J2 -1) losV S / o) |
© 242 ﬂ&,(, '

@ 22 +1) oy

P

68. Ify= a0082x+bsm2x then
( dzy ﬁ‘*% Govn 2% + b Cotpa
a) —=
dx2
- 42
(b) gg- +2}'=0 ﬁ)fy) ""“L,ﬂ\ COSL')L
d%y ?ngfw%k
| (c) —5 -4y=0
e g o loSay @
Fy:g% +4y=0 A g S .—- b

69. A given quantity of metal is to be cast into a

half cylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the dlameter of the

semicircular ends is

(@) m:(rm+2)

b)) @+2):n

©  1:1 s
(d) None of the above

D)




73. fag (4,2) @ y* = 8x 1 revaw gff fpwsh v |

3
70. .[esmxcosxdx e ST & ? 22
0 %M (@) 2
(@ e+l + g b 242
~« rh
: \}b)/e_l \) ‘@ﬂw (c) 2
i i Il e ¢ @ 32
d ,
é&/e _ £,==] 74, y-31& W gE-fog wowd w9 ga-en
: _ | &1 FaHel GHIHT B
X—2 i 1
7. W@ i‘(X)“x+2"”t b i B (a) x2+Y2—2xY%=0
wWRE? jauff), = L B 8 2, 2 dy
@ 4(x +2) _‘3 R +2:‘YE=0
x-2 pu ] -
j © xz—y”+2xy:—i=0
x+2 .
® -p @ 2-yr-2xy
_ e
- ie) :Z
. 75. azammﬂmﬁz—y+z[91]2+9y=x*
@ 2(11“) : dx® o
o wed # Frefafes w e Hifvr -

1. aaaam’mﬁwaﬁim (fsft) 1% |

| ine? ax e w2 |
L J.” b .mg? 9. g gHiE i Hife (ATE) 2R |

(a) 2xln(®-2x+c¢ : IRkt woAl ¥ BHEA @ R/ 2

® %H (a) Had 1
(b) Had 2

(© 2xin(x)+c ' _ ) o e
(© 1323

2 In(x)
d —2x+
i X ¢ @ JTdL, T2

EDF-S-DGV (20-D)



R S o A et

"X cos xdx is equal to

(a) e+1

\ (b e-1
() e+2
d e

L IE fa)=X=2
x+2

equal to ? 2 N
R
@ Xx+2) P25
x-2 .
x+2
02, 4(x-2)

, X # —2, then what is fX(x)

73. The minimum distance from the point (4, 2) to
y = 8x is equal to

(@ 2 s %
(b) 242

© 2

@ 32

74. The differential equation of the system of
circles touching the y-axis at the origin is

2 e 5

(a) :r.+y2 2xydx..

(b) x2+y2+2xyﬂ=
dx

2N dy _
() x y2+2xydx

g%ﬂ- Q@:k"_ad‘} _x2-y2-2xy%=0

b +92 -i %%“’9‘:'75.! Eonsid_er the following in respect of the
c

x-2

1+x)

@ ==

72. What is I In(x?) dx equal to ?

(a) 2xiln(x)-2x+c

® Zic

x
() 2xiln(x)+c
2 In(x)

(d) —2x+

EDF-S-DGV

differential equation :

\

a > a%...‘l' "9’3;2,,+2[g1)2+9y‘=x
1 e A

dx

(j(H') The degree of the differential equation

1
/e
4 / The order of the differential equation

is 2.
Which of the above statements is/are Icorrect ?
(a) 1only
v(b)”” 2 only
() Bothland?2

(d) Neither 1 nor 2

(21-D) : >
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76. 4 A, B, C i Hed ¥, O 390 A FHAFAN(79. T | (100) J&wi F weA 50 & I IFH
AT % T |1Y " <hi wifdehar T 8 2 e forer 10 2 1 4R S Y § A 5 @

(@ PANB)+PBNC) +PCNA) fen sman 2 of fw & 4 @ fanfom == R
® PANB)+PBNC+PCNA - ST B, ot T Ared iR T WS foreem s
PAANBNC) &1 g ?

¢ PANB +PBNC)+PCNA) - ,
2P(ANBNC) (a) 45,5

@ PANB) +PBNC+PCNA - |
SMANBNO) b) 11:25,1:25

77. 3R A = X 3R Yda §, @ 7§ wgEay © 1125,25

T TR ?

(a) - 1 @ 126,25

® -1

© O 80. If2 3 Fsye grdl N Her I R, 99 W W@
@ 39w S T $ gufoera wiear 71 & % vgat 7@ W 6

3, i 7% feam gom & fo el w sy i
78. & T@dd HeAd A I B W AR & & %1 ITHe 8 TR ?
P(AUB)=§aﬂtP(AnB)=%2;1- AR

' 1
I’ PB) <P}, A PB) e wom d? |0 @ 3
1 k
{8) =
B 1
U
1
® 3 1
(c) l © 5
=
: 1
(d) r %)) -

EDF-S-DGV (22-D)



76.- If A, B, C are three events, then what is the
' probability that at least two of these events
occur together ?
(a PANB)+PBNC)+P(CNA)
(b) PANB +PBNC +PC N A -
PANBNC)
@ PANB +PBNCOC +PCN A -
2P(ANBNC)
@ PANB) +PBNC+PC N A -
3SPANBNC)
77. Iftwo variables X and Y are independent, then
what is the correlation coefficient between
them ? '
) |
(b)) -1 _
$. 0 80.
(d) None of the above
78. Two independent events A and B are such
that P(A U B) = :f: and P(A N B) = %. If
P(B) < P(A), then what is P(B) equal to ?
1 e K
e pLAT b4
® 2 w{f&w
9
© < =) o
2
v 1
o
(d) 5
EDF-S-DGV (23-D)

79.

The mean of 100 observations is 50 and the
standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively ?

(a) 45,5 -
(b) 11-25,1-25

() 112525

(d 125,25

If two fair dice are rolled then what is the
conditional probability that the first dice lands
on 6 given that the sum of numbers on.the
dice is 8 ?

(a)

o=
B,
&
\-—-ﬂ'
‘_)

N

| -
3
= &

X

(d)

= R




o TR ——— g i aad - T s

amﬁawﬁaﬁmm% Y% U % | 83. m%sﬂﬁ’iiﬁr@nﬂﬁawﬁaﬁﬁg%t
iﬁmwwﬁammﬁwdﬁwé N Wﬁﬂmwﬂlmmﬁmw%
iR T 1 a1 @ Y e g # | 5w A -%%ﬁqﬁ%aw%(maﬁ)ﬁ?

1 sfrehar % @ fo6 Gt W o S @ a2 4

(a) %
(a) %

) -1%
(b) g

(©) %
© %
| N %
@ | L

e T e : 84. UF YW HI IS IR HH1 T & 3 39 5 @
82, TH qU & n g4 & fodl & 3 ¥ e | - 6 PV AW RS WAL @A R qumaﬁzﬁ

BE R 2 g e v A g o g T T e SO R s
ol 5 @ f R @ fe Qe o g
8 16
T T o R E, D ow A Wz
(a) 3 : : e IR
M5
b 4
4 4
(c) §,§
() 5
. w38
@ 6 @ 3

EDF-S-DGV ' (24-D) (BB
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L Lk T

T s e e

81. Two symmetric dice flipped with each dice|83. Two cards are chosen at random from a deck
having two sides painted red, two painted of 52 playing cards. What is the probability
black, one painted yellow and the other that both of them have the same value ?
painted white. What is the probability that 1
both land on the same colour ? (a) S %

w 2 @ hH (l_/
i 2 3 |
& ® = )%
17 %
®» 2
9. 7\
17 ‘:)
18
7
(d) T
1
(d) 3
84. In eight throws of a-die, 5 or 6 is considered a
X success. The mean and standard deviation of

82. There are n socks in a drawer, of which total number of successes is respectively given
3 socks are red. If 2 of the socks are chosen by H"“Q@
randomly and the probability that both e A) '
selectedaocksareredis'-zl—,thenwhatisthe (a) 3’9 L A%K
value of n ? x

' N 3 5
. 8 4
C (b) ala ‘?é)
" (a) 3 5 e B e 3
0 A - A
®), 4 1 W{E‘/ o 22
\ A~ 3 3’3
5 ' |V
{VL 3’9
@ 6 \[\"\“ |
-
EDF-S-DGV - ) 7% (25-D)

N




85.
TER 9ash & | AR PA) = 0-5 3K PB) = 06
8, @ P(A|B)HT 0 1 8 ? y
(a) %
1
® =
© g
¢
@ 3
86. fr=fafga wui W faem Hif
1. WHI % U Y=Y H I GUIR HTeT
el # ddfte ea W = B
2
2. U GHNG €A & foe
HHIR WTEd > HIfEdHt > 95 (F1e) |
IFFFA A ABTTA G RE?
(a) a9 1
(b) HaeT 2
() 1323t
(d a1 T8 2
87. W i X 3 Y & o9 gy % 06
& | Agfees Wz 3k W sm v ufenfia #
%Z=X+531’RW=-§%|zamwé;_aﬂa
TEEEY TV TR 2
(a) 01
® 02
(e) 036
@ 06
EDF-S-DGV

QG HAU ANBIYSR & &5 A 3k B

88. a&laﬂzzo%a‘la%mﬁu:;;{gﬂﬁaﬁsa

on G s ®, @ aftomdt Soft @1 e
w2 '

(a) 9975
b) 19975
(c) 29925

(d) 39925

89. W W i WiRhar w1 ? fo6 forelt gm w1 @

it faeg swht ftfr Y emem sg% g &
it gty & 2

1

(a) Z
1

(b) 2

3
(c) 'Z 4

(@ 3@ Ruife & fe s ogsar

90. 3R} A 3R B weaw &, 7@ W d wem AW

AT B % ufed g o ik 7= & 2

() P(A) + P(B)

() PAUB)

() P(AANB)

@ PQA)P®B)

~ (26-D)



85.

87.

EDF-S-DGV

A and B are two events such that A and B |88.

are mutually exclusive. If P(A) = 05 and
P(B) = 0-6, then what is the value of P(A|B) ?

(a) % P@120 X
b)) = i S
6 oG
(c) %
i
(d) 3

Consider the following statements :

1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero. :

2.  Arithmetic mean > Median > Mode for a
symmetric distribution.

Which of the above statements is/are correct ?
(a) 1only

(b) 2 only

(©) Both1and2

(d) Neither 1 nor 2

Let the correlation coefficient between X and
Y be 0-6. Random variables Z and W are

efined as Z =X + 5 and W = . What is the
correlation coefficient between Z and W ?

(a) 01

(b) 02

() 036

(d 06

89.

(27-D)

If all the natural numbers between 1 and 20
are multiplied by 3, then what is the variance
of the resulting series ?

(a) 9975 . )
(b) 199-75
(¢) 29925
(d) 399-25

What is the probability that an interior point
in a circle is closer to the centre than to the
circumference ?

; |
(a) Z
&y L

3 -
(C) I

‘9)’ It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or
event B ?7

(@) P(A)+P(B)

.ﬁy/ﬁAum

(0 PAANB)

(d) = P(A) P(B)




1 e e wmee e e
1 v —
.

91. A@ -3,3), B, -3, -4) 3R C(2, -3, -2) ¥Wt|95. .18 ¥ ferares 71 & 2

mﬁmﬁg’&rwﬁﬁ%aﬂmﬁﬁ@%? (@ <1,1,1>
(@ (3,3,-1) ° b <1,0,0>
(b) (3,-3,-1) (€0 <0,1,0>
@ @G1,-3) _ d <0,0,1>
@ (8,-1,-3)

5]
92. Tﬁax2+y2+zz—6x+8y-10z+1=0ﬁ %,?h(?_?),@;’.;.f,’)ﬁm%m%?

R _ (a) 106
(a) 5 b) -106
(k) 2 (c) .53
€ 7 @ -53
@ 3 '
| e 97. AR fagslt A 3k B ¥ AR Ry wuw:
93. HTEIFﬁ2x+y+23=9 MMax-5y-4z=1% 33 ‘_23 + k 3R 25 +43‘ _3k g o AB
sfeded 3 fag 3, 2, 1) A I T THaw i T w R
T TR T ? '
8 (@ V14
10x-2 =
(a) y + 22 = 28 _ & I
(b) 10x + 2y + 2z =28
() 43
() 10x+2y-2z=28 3
@ 53

(d 10x-2y-2z=24

98. IR W w fiyw ABCH, FfAC=pd, @

94, THFIRK HAGA! 4x — 2y + 4z + 9 = 0 3K
0 G S

Bx-4y+8z+21=0% fa A gha g2

; " TR ?
(a) 7 ' '
. (a) 192
w2 ® 2p?
3 2
© = : P
? (c) )
(d) I d p

EDF-S-DGV (28-D)



91. The centroid of the triangle with vertices|95.
A(2, -3, 3), B(5, -3, — 4) and C(2, -3, -2) is the
point
(a) (-3,3,-1) % -3
( 3,-3,-1)

(e (3,1,-3)
- ¥, 96‘

92. What is the radius of the sphere
x2+y2+z2-6x+8y-102+ 1=07
(@ 5 : |)'\ |g A
® 2 G \ W~

. , > 0
\(;/ 7 ‘X :
@ 3 A
97.

The-, équation of the .p_lane passing through

the intersection of the planes 2x +y + 2z = 9,

4x - 5y — 4z = 1 and the point (3,2, 1) is

(a) 10x-2y+2z=28
(b)
(©

(d)

10x + 2y + 2z = 28
10x + 2y — 2z = 28
10x -2y — 2z = 24

The distance between the parallel planes

4x — 2y +4z + 9 =0 and 8x - 4y+82+21 09&

What are the direction cosines of z-axis ?

(@ <1L,L1>
b))  =1,0,0>
€) =<0,1,0>
(d) =<0.0,1>
%1 = Q‘HIL‘L
If 2 =2) -2 +5k and B =27 + ] -3k !

T - o
then whatis(b — a ).(3a + b )equalto?

(a) 106 Q’,_gj,_ﬂ?p)- Q,:‘.t-@:;ffg
(b~ - 106 - {wl{«‘lé
(0 53 = |
@ -5 s |

If the position vectors of points A and B are - ‘
A A A %
35 -2 + k and 23 +47 - 3k respectively,
then what is the length of AB ? _
Jid ¥?
) ASK Y
J29
J43

V53

(a)
(b)
(c)

@

If in a right-angled triangle ABC, hypotenuse

is
: AC = p, then what is
w e ﬁw\" . Boabivh ik .G et
(@ p’ ;
1 :
® = L _ Re
2 [ b 2
3 4{"’*‘“' i s
(c) .'?l ‘g 2
2 ] P
(c) ? [
7
(d) 2 }) /&P d p _ g
EDF-S-DGV (29 D)
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99. afwi o =21-6]-3k oM D =4i+3j-k

% offel % HIVT T TIE (sine) B
(a) T%E

®) ”JE_E

© 25—6 |

@ 2—16-

100. » & @8 A ¥ & Fws faw wlRw
3} 443 - & ot w2} + 2} + 10k

weaq & 7
(@il

b 2

d 4

101. x ¥ ARG sec (tan™! x) T SYeqH F1 R ?

(a) 2x

b x2+1

o)y el

@ x°

EDF-S-DGV

(30-D)

102. afe fix) = logyo (1 +x) 7,

4R(4) + 5f(1) — logyp 2 TorEsh ST R ?

(a)
(b)
(c)
@

2

(a)
(b)
(c)

(d)

(a)

"~ (b)

(e)
(d)

(a)
(b)
(c)

(d

&
1
2

4

1108. fix) = in (Jx2 +1 —x) grT qiefia o %o f,

Teh H WHeld

- ueh faum wer

an 3 faww we gFt
7 a ww 3R 7 & faww wor

104. f(x) = log, 10 G YRWING H £ S

x>10
x =10 BTH, x>0
x210 '

x=1% BIgH, x>0

3
105. lim 1= %X frgd s R 2
\ x—0

x2

0
12
24

36




99. The sine of the angle between vectors 102. If flx) = logyo (1 +x), then what is

> 5
?:2?—63—3]: A =4’i+3'}_£ 4f(4) + 5f(1) — log1o 2 equal to?

is ' (a 0
ﬁ@ ; ) ukﬂs\c

% b 1 ‘\,-
) J2—é A /qp 11@ b
b e LA © 2 i *‘3\0 (LL
e P b @4 Q) :
J26 g\-\ $+
(c) = /) ’b‘f \%\ Q{/
26 - W
3 4 : b V%\U\-B' 103. A function f defined by fix) = In ( ‘/x +1 —-x) \OOIV .
@ e is &
o (a) fanchi o 6% |
a) aneven on
#) A
( an odd function
100. ::hat i:hthe vzlue :f )sz;?r wl':::\h the vie\:ctors (- Bothevets sl ST Sinetion
i+4j - and -2i + Aj + 10k are :
ol (d) Neither even nor odd function
perpendicular ?
& N 104. The domain of the function f defined by
fix) = log, 10 is
© 3 (@ x>10
L)d)’ 4 _ (b) x>0 excluding x =10
: ¢ x210

_ (d x>0excludingx=1
101. What is the derivative of sec’(tan™' x) with

respect to x ? 4 ‘w-’
)

(a) 2x

® x*+1 .
T )
() =x+1 %&g Mt.$ﬂd@:‘1§‘@) 12
EERRENN il N
= (d 36
EDF-SDGV 5 (31-D)
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106. 379%d g %+E=o ST 9% BA =1
o
22

(a) x°

+y’=c
(b) x2—y2=c

x2+y2=cxy

X+y=c

(c)
(d)

x#0

107. k %1 98 ¥F 71 & 5 f(x)={8i:x )

x=0

x =0 Had s & ?

{a) 2
b) 1
e -1
d o0
108. a?'x+b2y?5l ~gAd9 9H, i xy:czi, TR ?
(a) abe
(b) 2abc
(¢) 3abe
(d)  4abc
109. I @ gy frad s R 2
(a) -In(a) e
'ex
e~
ex
© In(ae) o
ae*
(d) . e +c
EDF-S-DGV

e ,W

Ilﬂ.aﬁy=csmx3ﬂtx—m'ﬁﬂiﬁ¥ﬁ@_‘m
(V[9) 1 &%t F1 8 ?
(a ¢
(b) 2c
(e 3c
(d) 4c

111. 3f2 sin@+cosO=v2cos0 ®, al

(cos 6 — sin 0) formh TR B 2
(@ - +v2cosH

(b - +2sing

() V2sin®

(d 2sin@

112. U 6 S8 =AM 44 om B, 3696 v SHar &
T 22 cm R | Sfar Y @y =919 A e v
22 -

484
WY
© 242
121
® Sy
@ %cm
: 4y Ak 1 1
113. W] ALY
.I.'ﬂﬁsme 2_avhttane ﬁt:a}eﬁm
wgute & war @ 2 :
(a) 999
M) feefa
(© Q’cﬂﬂ
(@ wgd -

- (32-D)



106. What is the gen;aral solution of the differential |110. What is the area of one of the loops between
equationilz+£=0? the curve y = ¢ sin x and x-axis ?
dx y
J { (a) ¢
_—
(a) x2+y2=c 3 Blﬂﬁ"d M 2c
Sty 9 & (c) 3c
e 9 @ de i 4 i
e v o
@ x+y=c r;;aa'? ) Aj 111. If sin®+cos@= J2cos0, then what isiﬁ
2 ‘ﬂ_/'a ’0% (cos 6 — sin 0) equal to ? i
107. The value of k which makes ) » @ - V2cos® ’%mg elgc- ﬁﬂgg@
f Bin X X #F 0 = x 2 p |
x) = i eahigt continuous at x = 0, is (b) - +2sin® é !ﬁﬂ ~(hsaQ = ! 3
: () 2sin® :
: (d) 2sin® :
W 1 : I [} | I
e -1 7 2 leg ar;g ‘
] 112. In a circle of diameter 44 cm, the length o X3 éoy
d o0 i chord is 22 cm. What is the length of minor arc
3 of the'chord ? 18
108. What is the minimum value of a’x + by K4 ;Cf_as_?:/&
where xy = ¢ ? i ' G et o
21 >3
(a) abc o
() 2abe (h) S
(¢) 3abe ¥ 121
(d) 4abe : 21
: |
_ gl @ 22 em |
109. What is j @ g4y equal to ? 7 li
e 118. Ifsin© = — - and tan = —=, then in which
In(a) . e 5’ e:n in w
) X i quadrant does 6 lie ? j
In )
e i (a) First v
ex
(C) In(ae) (b) Seﬁond
g . .
@ 24 G o
e (@ Fourth
EDF-S-DGV (33-D)
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114. 37% 1, 2, 3, 4 3 5 &1 T T € 3 A 118. TF oA <7 faenffri A, B 3k ¢+ R s

i gy it sgufy 777 2 2 2’
@ 36 . 7 ML &1 AR A o w9 @
(b) 30 & Hd & dl 39 4G ) Wifesar @4 2 £
() 24 %1 & firet s 2
d 12 -
(8.) E
115. h 3918 6 & MR & wh fg A @, St f6 1 e
WAR & Y o R, s A xR i ww| ) 32
g B, AfFAFT TG4, s awr y 25
2 | 3f: AB =22, it Fraforfiaa § & S v 9 5%
@R ? 23
(d) 32
(@) h®(cot’y - cot? x) = 22
i ) ; 119. f99g wrEi F ww gw w1 G (GeFEn) s
(b) z"(cot®y—cot“x)=h %lﬁwﬁ%mwaﬁaﬁiﬁmmaﬁ
© h2(tan?y - tan’x) = 22 ‘ TRt # 2 f qEt TR & S @ AW vEs
_ / TR % HAh b A & I B 2
(d) z2(tan2y—tan2x)=h2‘ 1
(a) =
116. a9 6 wH TE ¥ yhewd wid @ A *
THE I W E AR B
R .
(@) 5—11 (c) 152
®) % | | . |
I 120. v fever Reess +t 3oren T o W € T
. 52 y T IJARET 9w e T | @t Ra %
@ i% ‘ . HYHY 2 AT 4 AT 6 WH FA i Wiwar =
&4
117. 3 A 3 B @ wead 3w woR § Gy
P(A) = 05, P(B) = 0-6 3l P(A N B) = 04 &, 7w 2
PAUB) fre sum 2 2 il ®
(a) 09 £
b 07 ©
(¢) 05 1
& 08 g~

EDF-S-DGV (34-D)



114.

115.

116.

117,

EDF-S-DGV

How many three-digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is not allowed ?

(a) 36

® 0 g et ()
© 24 Hr
lgy‘ 12 -

The angle of elevation of a tower of height h
from a point A due South of it is x and from a

point B due East of A is y. If AB = z, then
which one of the following is correct ?

(@ h2(cot’y- cot® x) = 2°

®) 22 (cot? y —cot? x) = h?

© h?(tan?y-tan’x) =2

@ 2 (tan?y - tan® x) = h®

From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

(a)

(b)
1

(C) '5—

T

If A and B are two eve_nt.’s such that
P(A) = 0-5, P(B) = 0-6 and P(A N B) = 04, then
whatis PCAUB ) equal to?

(a) 09
(b) 07
(¢) 05

o>

| =

& 03

118.

119.

120.

P

(35-D)

1

A problem is given to three students A, B and

C whose probabilities of solving the problem
e

are —, — and : respectively. What is the
2 4 4

probability that the problem will be solved if
they all solve the problem independently ?

AR et

32

27
(b) 32
T i

32

23
AR
h 32
A pair of fair dice is rolled. What is the

+ probability that the second dice lands on a
higher value than does the first ?

1 - .
Ll 2> L)
®» =

6

5
& 1z

5 v @/

d - 18 [ g
L \é
A fair coin is tossed and an unbiased dice 1s

rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

_'%fal_"é

o E

(a)

(b)

(d)

A= | W= D
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : EDF-S-DGV Vi e Test Booklet Series
TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes = Maximum Marks : 300
INSTRUCTIONS

2'

5.
6.

7.

9.
10.

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection. : :
You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet. .
This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. 3 .

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

‘Sheets for rough work are appended in the Test Booklet at the encl.'

Penalty for wrong answers : :
THERE WILL BE PENALTYFORWRONGANSWERBHARKEDBYACANDD)ATEINTHE
OBJECTIVE TYPE QUESTION PAPERS.

(i)  There are four alternatives for the answer to every quesﬁon. For each question for which a wrong answer
hasal;een given by the candidate, one-third of the marks agsigned to that question will be deducted as
penalty.

(ii)  If a candidate gives more than one answer, it will bgtreataed as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that

question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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